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1-Tensor tympani attached to: handle of malleus

2-Which of the following is wrong about facial nerve ?

Have only somatic motor and somatic sensory functions

3-case about propranolol : insomnia & nightmares

4-Which of the following doesn’t stimualte satiety ?

5-Which of the following is not associated with sour taste? G-protien

6-Wrong about non-visual retina? Contains neurons

7- Wrong about GBS? Late spsis >> 1-3 months

8-Which one of the following is not blood supply to the middle ear?

9- Dropping of shoulderis caused by injury of?

10-Head injury that causes increased depolarization of vagus results in : increased
motility in gastrointestinal tract

11- 2"¥ messenger of phototransduction : cyclic AMP / cyclic GMP

12- Rate Limiting step : isomerization of retinal ester to retinol

13- Excitability definition

14- Question about Threshold

15-Parkinson's disease clinically manifested by a triad of cardinal motor
symptoms :rigidity, bradykinesia and tremor

16-Case of Parkinson's disease, J! 32> s« (nsinclusions : substantia nigra

17- Wrong about alzheimer's disease : intracellular amyloid and extracellular tau
18- Which of the following is wrong about the face : facial ar is the only supply of the
face

19-Which of the following supply the ant temporal ? temporal / zygomatic &
temporal

20-Supply of cornean & conjuctiva ? nasociliary

21- Sympathetic effect : bronchodilation

22-How retina involoved in the visual pathway? Has the 15t and 2™ photoreceptors
23-Which of the following is wrong about prions? Has nucleic acid

24-Botulinism : inhibit the Ach release ?

25-Which of the following drugs is antiparkinsonian ?

26- Question about poliovirus

27-selective PDE4 inhibitor?

28-Which of the following drugs doesn’t caused anosmnia ?

29-Not longtudinal fasiculus : sympathetic

30- No complications in cornea transplat : avascular

31- Which of the following is wrong about cornea ? relatively avascular (anatomy
guestion)

32-Which of the following is wrong about the lens ? the epithelium covers all of it ?
33- J s Sitetany J) 4 s> (Slight chain

34-Stocking and gloves distribution is seen in peripheral neurons
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rods and cones>>
activiation of 11 cis retinol to retinal

2)IP3 second messenger in
Umammi,sweet,bitter

3)cones? color vision

4)site of receptor for smell
_at the apical of olfactory cell?

0955 J &dsdl g &l olisa lay (5
deoplarized in resting state without stimulus
-Photoreceptor cell?

_bipolar cell?

6)visual adaptation>> time needed to adapt to
new intensity

EFS LR
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rabies>>>
-450mm/day

N case about child with flaccid muscle ,what the
sample needed in diagnosis
_stool

(poliomylitis Al o] ceBgs Ul)

Rinfant with changed in cry ,his mom feeding him
with honey>>>boutelinum
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